Problem solving

Ratio and Proportion I

1.
In every week I eat 7 cakes

So in every 2 weeks I eat ----------- cakes

and in every 3 weeks I eat ----------- cakes. 

2.
For every 2 bags of crisps you buy you get 1 sticker,


For every 6 bags of crisps you buy you get  -------  stickers.


To get 3 stickers you must buy ---------- of crisps.

3.       Colour 1 in every 3 squares black in this pattern.


Is in every 6 squares 2 of them black – yes/no.







4.
Make a tile pattern where 1 in every 5 tiles is black.

5.
Make a tile pattern where 2 in every 5 tiles is black. 

 

Problem solving

Ratio and Proportion II
1. Chicken must be cooked 50 minutes for every kg. How long does it take to cook a 3kg chicken? 

2. At the gym club there are 2 boys for every 3 girls.

     There are 15 girls at the club.

     How many boys are there?

3. At the gym club there are 2 boys for every 3 girls.

     There are 12 boys at the club.

     How many girls are there?

4. Zara uses 3 tomatoes for every ½ litre of sauce.

     How much sauce can she make from 15 tomatoes?

5. Zara uses 3 tomatoes for every ½ litre of sauce.

How many tomatoes does she need to for 1 litre of sauce?

How many tomatoes does she need to for 2 litre of sauce?

6. A mother seal is fed 5 fish for every 2 fish for its baby.

Alice fed the mother seal 15 fish.

How many fish did its baby get?

    7.   A mother seal is fed 5 fish for every 2 fish for its baby.

Alice fed the baby seal 8 fish.

How many fish did its mother get?

Ratio & Proportions  1

Work with your Response Partner
You are going to find out how to make tomato sauce. You will need 3 tomatoes to make a half litre of sauce.

·  How many tomatoes will be in one litre? How do you work this out? 

·  How many tomatoes would you need to make 10 litres of sauce?

·  How many litres of sauce could you make using 15 tomatoes?

Now generate your own questions. Make sure that you start with ‘How many tomatoes’ or ‘How many litres’.

·  Which questions did you find most difficult?

·  Explain how you worked out the answers.

Ratio & Proportions  2

Work with your Response Partner

1. In each bag of sweets there are 8 toffees. How many toffees are there in 10 bags?

2. There are 5 free stickers in every comic. How many comics would I need to buy to get 55 stickers?

3. The juice of 5 oranges is used to make one jug of orangeade.

·  How many oranges will you need to make 2 jugs of orangeade?
   What operation do you need to use?

· How many jugs could you make using 36 oranges? 
           What operation do you need to use?
Now generate your own questions. Make sure that you start with ‘How many tomatoes’ or ‘How many litres’.

·  Which questions did you find most difficult?

·  Explain how you worked out the answers.
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